0010320-1

Steering Servo Adjustment Screw
M3X 31 Nickel 2pcs

B8 [o) {] Al 1 R BE R A
M3 x31§E# 2pcs

0010320A-1

Steering Servo Adjustment Screw

M3x31 Titanium Original Color 2pcs

95 [ 3] Al % A B2 R A
#XEBE M3x31 2pcs




